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7. TOTSLEERS

. ODEREFHDERTE (H=h, D2=1.0/h?)

for (i=0; i<=nx; it++)
{ OMQ[i][0] = -2.0*PHI[i][1]*D2; }
OMGTi][ny] = -2.0*(PHI[i][ny-1]+H)*D2 ; }
for =1; j<ny; j++)
{ OMG[0][j] = -2.0*PHI[1][j]*D2;
OMGInx][j] = -2.0*PHI[nx-1][j]*D2 ; }

7.1 o DEE

DT-A? ,D2=1.0/h2&T %,

for (i=1; i<nx; i++) {
for (j=1; j<ny; j++) {
OMGTi][j] = OMGIi][j]+ DT*D2*(
+ ( (-(PHI[i][j+1] - PHI[i][j-1])*(OMG[i+1][j] - OMG][i-1][j]) +
(PHI[i+1][j] - PHI[i-1][i])*(OMGi][j+1] - OMG]i][j-1]) )/4.0
+ ( OMG]i][j-1] + OMG(i-1][j] - 4.0¥*OMG(i][j] + OMGJi+1][j]
+ OMGi][j+1])/Re); }
}

7.2 ¢ MSOREIZKDETE
SORMDNMEZEZF Alp, H2=h2LF 5,

k=12,... b INEKEFTRE

for (i=1; i<nx; i++) {
for (j=1; j<ny; j++) {
R = (H2*OMGT[i][j] + PHI[i][j-1] + PHI[i-1][j] ;
+ PHI[i+1][j] + PHI[i][j+1] )/4.0 - PHI[i][j] ;
PHI[{][j] = PHI[][]] + Alp*R ; } }




73 HAD=HUVDEE

o xv=0.5/AX%, yv=0.5/Ay&F %,
for (i=1; i<nx; it++) {
for (j=1; j<ny; j++) {
UIiI[j] = (PHI[i][j+1] - PHIFi][j-1)*yv ;
VIiI[j] = -(PHI[+1[j] - PHI[i-1][ D *xv ; } }
for (i=0; i<=nx; i++) {
Uli][ny]=1.0; V[i][ny]=0.0; U[i][0]=0.0; V[i][0]=0.0; }
for (j=1; j<ny; ++) {
U[0][{]=0.0; V[0][j]=0.0; Ulnx][j]=0.0; V[nx][i] = 0.0 ; }

8. FTEHEE (Re=400, t=1.0)
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8.1 FHE#HE R (Re=400, t=2.0)
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At=0.01
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8.2 EHEHEE (Re=400, t=20.0)

40 X 4053 %l
At=0.01

8.3 ETEHER (Re=10, t=0.1)
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At=0.001
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8.4 ETEHER (Re=10, t=1.0)

40 X 405 E|
At=0.001




